

Convergence Theorems of Iterative Schemes For Nonexpansive Mappings

Salwa Salman Abed . Zena Hussein Maibed

Department of Mathematics, College of Education for Pure Science,

Ibn Al-Haithem ,University of Baghdad

1 salwaalbundi@yahoo.com

² mrs_ zena.hussein@yahoo.com

ABSTRACT

In this paper, we give atype of iterative scheme for sequence ofnonexpansive mappings and we study the strongly convergence of these schemes in real Hilbert space to common fixed point which is also a solution of a variational inequality. Also there are some consequent of this results in convex analysis

Keywords: maximal monotone; strongly convergence; variational inequality; nonexpansive mapping.

Academic Discipline and Sub- Disciplines: Functional analysis, operator theory

Subject classification: MSC(2010)47H10

Functional Analysis

INTRODUCTIONAND PRELIMINARI

Let X be a Hilbert space, $\emptyset \neq C$ be a convex closed subset of X and A be amultivalued mapping with domain D (A) and range R(A). The mapping A is called monotone mapping if the following inequality hold

$$\langle x_1 - x_2, y_1 - y_1 \rangle \geq 0, \forall x_i \in D(A), \forall y_i \in R(A).$$

Also, any mapping A is called maximal monotone mapping of A if the graph G(T) of T is not properly contained in the graph of any other monotone mapping ,where

 $G(T) = \{(u, v) \in X \times X; u \in A(x)\}.$ Monotone mappings play a crucial role in

modern nonlinear analysis and optimization ,see the books [1,2,3,4,5]

The single valued nonexpansiveself- mapping onCis defined as: $J_{r_n} = (I + r_n A)^{-1}(x)$, and is called resolvent mapping on C, where $< r_n >$ be asequence of positive real numbers. In[6]Moudafi, studied the strong convergence of both thefollowing iterative schemes in Hilbert space

$$x_t = tf(x_t) + (1-t)T_{x_t} \qquad \text{as } t \to \infty$$
 (1)

$$x_{n+1} = \alpha_n f(x_n) + (1-t)T_{x_n}$$
 as $n \to \infty$ (2)

where fbe a contraction mapping , T is nonexpansive mapping and $\alpha_n > 0$ be a sequence in (0,1). In this paper we study the stronglyconvergenceof common fixed point of sequence of nonexpansive mapping which is also a solution of varational inequality,

$$< (I - f_n) x, x - x > \le 0, \quad x \in A^{-1}(0)$$

Now, We recall some definitions and lemmas which will used in the proofs:

Definition1. [6] and [7]

1- A mapping $T: \mathcal{C} \to X$ is called Lipchitz continuous with constant $\alpha > 0$

 $||Tx - Ty|| \le \alpha ||x - y||$, for any $x, y \in C$

- 2- If $\alpha \in (0,1) \Rightarrow T$ is called contraction mapping.
- 3- If $\alpha = 1 \Rightarrow T$ is called nonexpensive mapping.

Definition2. [6] and [7] A mapping $T: \mathcal{C} \to X$ is called

1.firmly nonexpensive mapping if for any x, yinC then,

$$||Tx - Ty||^2 + ||(I - T)x - (I - T)y||^2 \le ||x - y||^2$$

2.strongly nonexpansive mapping if it is nonexpensive and for any $< x_n >$ and

<y $_n>$ are sequences in C such that<x $_n-$ y $_n>$ is bounded and $||x_n-$ y $_n||-||Tx_n-$ Ty $_n||\to 0$ it follows that $(x_n-$ y $_n)-(Tx_n-$ Ty $_n)\to 0$.



Note that Both firmly nonexpansive and strongly nonexpansive imply nonexpansive.

Theorem3.[7] If T be a mapping from X into X, then the following are equivalent

- 1- Tis firmly nonexpensive
- 2- (I-T) is firmly nonexpensive
- 3- (2I-T) is nonexpensive
- 4- $|| Tx Ty|| \le \langle x y, Tx Ty \rangle$ for all x, yinX
- 5- $0 \le \langle x-y, Tx-Ty \rangle$ for all x, yinX

Lemma4.[8] If X be a real Hilbert space , $\emptyset \neq C$ be a convex closed in X and Tbe anonexpansive mapping with $F(T) \neq \emptyset$. suppose that $\langle x_n \rangle$ converge weakly to x If $(I-T)x_n \rightarrow y$ then (I-T)x = y.

Lemma5. [9] be a sequence of nonnegative real number such that $a_n < lf$; $n \ge 0$ $a_{n+1} \le (1 - \gamma_n) a_n + \gamma_n S_n$

Where $<S_n>$ be a sequence in the real number and $<\gamma_n>$ be a sequence in (0,1) such that $\sum |S_n| < \infty$ and $0 \ge \lim_{n \to \infty} \sup a_n/\gamma_n$. Then $a_n \to 0$ as $n \to \infty$.

Lemma6. [10] Let $\emptyset \neq C$ convex closed inCand T be a multivalued nonexpansive mapping. If x_n convergence weakly to pand $||x_n - T_{x_n}|| \to 0$. Then $p \in F(T)$.

2.MAIN RESULTSLet *X* be a real Hilbert space and *C* be a nonempty convex closed subset of *X*. Denote by :

• \mathcal{F} is the class of the sequence $\langle f_n \rangle$ of mappings on \mathcal{C} such that

$$||f_n(x_n) - f_{n-1}(x_{n-1})|| \le ||f_{n-1}(x_n) - f_{n-1}(x_{n-1})||$$

• T_t be a mapping on C such that : $T_t(x) = tf_n(x) + (1-t)J_{rn}(x)$; t > 0Now, we give the following definition.

Definition 2.1. Let $< T_n >$ be a sequence of mappings on \mathcal{C} , then $p \in \mathcal{C}$ is called asymptotic common fixed point of $< T_n >$ if there exist a sequence $< x_n >$ in \mathcal{C} converges weakly to p and $\lim_{n \to \infty} ||x_n - T_n(x_n)|| = 0$.

In this paper, we study the strong convergence of types of iterative schemes in real Hilbert space.

Remark 2.2. If $< f_n >$ be a sequence of nonexpansive mappings then T_t is also nonexpansive.

ProofFor all $x, y \in C$,

$$\begin{split} \|T_t(x) - T_t(y)\| & \leq t \|f_n(x) - f_n(y)\| + (t-1)\|J_{rn}(x) - J_{rn}(y)\| \\ & \leq t \|x - y\| + (1-t)\|x - y\| \\ & \leq \|x - y\| \end{split}$$

Theorem 2.3Let A be a maximal multivalued mapping , < $f_n >$ be a sequence of bounded and contraction mappings on C and $A^{-1}(0) \neq \phi$. Then < $x_t >$ converges strongly to the point \tilde{x} , where $\tilde{x} = p_E \big(f_n(\tilde{x}) \big)$ or \tilde{x} is the unique solution of variation of variational inequality.< $(I - f_n)\tilde{x}, x - \tilde{x} > \ge 0$, $x \in E = A^{-1}(0)$.

Proof Let $p \in A^{-1}(0)$

$$||x_t - p|| \le t||f_n(x_t) - p|| + (1 - t)||J_{rn}(x_t) - p||$$

$$\leq t \|f_n(x_t) - p\| + (1 - t)\|x_t - p\|$$

$$t||x_t - p|| \le t||f_n(x_t) - p||$$

$$\|x_t - p\| \leq \|f_n(x_t) - f_n(p)\| + \|f_n(p) - p\|$$

$$\leq \alpha \|x_t - p\| + \|f_n(p) - p\|$$
; $\alpha = \max\{\alpha_i, i \in N\}$; $0 < \alpha < 1$

$$\|x_t - p\| \le \frac{1}{1 - \alpha} \|f_n(p) - p\|$$

But $< f_n >$ is bounded sequence, and hence $< x_t >$ is bounded sequence, So $< J_{nr} >$ also bounded.

$$||x_t - J_{rn} x_t|| = ||tf_n(x_t) + (1 - t)J_{rn}(X_t) - J_{rn}(x_t)||$$

$$= t \|f_n(x_t) - J_{rn}(x_t)\| \to 0 \text{ as } t \to 0$$

Since < x_t > is bounded then there exists a subsequence < x_{tn} > of < x_t > such that x_{tn} \rightarrow \tilde{x} .

By lemma (1.4), we get $\tilde{x} \in A^{-1}(0)$



Now, since
$$x_t - \tilde{x} = t(f_n(x_t) - \tilde{x}) + (1 - t)(J_{rn}(x_t) - \tilde{x})$$
,

$$\|x_t - \tilde{x}\|^2 = t < f_n(x_t) - \tilde{x}, x_t - \tilde{x} > +(1 - t) < J_{rn}(x_t) - \tilde{x}, x_t - \tilde{x} >$$

$$\leq t < f_n(x_t) - \tilde{x}, x_t - \tilde{x} > + ||x_t - \tilde{x}||^2$$

$$\|x_{t} - \tilde{x}\|^{2} \le \langle f_{n}(x_{t}) - \tilde{x}, x_{t} - \tilde{x} \rangle$$

$$\leq < f_n(x_t) - f_n(\tilde{x}), x_t - \tilde{x} > + < f_n(\tilde{x}) - \tilde{x}, x_t - \tilde{x} >$$

$$\leq \alpha \|x_t - \tilde{x}\|^2 + < f_n(\tilde{x}) - \tilde{x}, x_t - \tilde{x} >;$$

 $\alpha = \sup \{\alpha_i \text{ , } i \in N\} \text{ such that } 0 < \alpha < 1$

$$\|x_t - \tilde{x}\|^2 \le \frac{1}{1 - \alpha} < f_n(\tilde{x}) - \tilde{x}, x_t - \tilde{x} >$$

And hence,
$$\|x_{tn} - \tilde{x}\|^2 \le \frac{1}{1-\alpha} < f_n(\tilde{x}) - \tilde{x}, x_{tn} - \tilde{x} >$$

But $x_{tn} \rightharpoonup \tilde{x}$, then as $n \rightarrow \infty$ we get

$$< f_n(\tilde{x}) - \tilde{x}, x_{tn} - \tilde{x} > \to \infty$$
 and hence , $\|x_t - \tilde{x}\| \to 0$

Now, to prove that \tilde{x} is unique solves of the variational inequality.

Since,
$$x_t = tf_n(x_t) + (1-t)J_{rn}x_t \Rightarrow (I - f_n)(x_t) = -\left(\frac{1-t}{t}\right)(I - J_{rn})(x_t)$$

And for all $z \in A^{-1}(0)$

$$<(I-f_n)(x_t), x_t-z> = -\left(\frac{1-t}{t}\right) <(I-J_{rn})(x_t), x_t-z>$$

$$= -\left(\frac{1-t}{t}\right) < (I - J_{rn})(x_t) - (I - J_{rn})(z), x_t - z >$$

 ≤ 0 as $(I - J_{rn})$ is monotone.

Therefore, \tilde{x} is a solution of variational inequality

$$< (I - f_n)(x_t), x_t - z > \le 0$$
, $\forall z \in A^{-1}(0)$

To prove the uniqueness, suppose that

 $x_{tn} \rightarrow \hat{x} \in E = A^{-1}(0)$ and \hat{x} is solution of variational inequality

$$< (I - f_n)(\tilde{x}), \tilde{x} - \hat{x} > \le 0 \tag{3}$$

Interchange \tilde{x} and \hat{x}

$$<(I-f_n)(\hat{x_t}), \hat{x}-\tilde{x}> \le 0 \tag{4}$$

Adding up (3) and (4) we have

$$<\tilde{\mathbf{x}}-\hat{\mathbf{x}},(\mathbf{I}-\mathbf{f}_n)(\tilde{\mathbf{x}}),(\mathbf{I}-\mathbf{f}_n)(\hat{\mathbf{x}})>\leq 0$$

By lemma (1.5), we get $\tilde{x} = \hat{x}$

corollary 2.4.Let A be a maximal multivalued mapping and $< T_n >$ be a sequence of firmly non expansive. If the scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f_n(x_n) + \beta_n T_n^{\alpha_n}(x_n) + (1 - \gamma_n)(x_n)$$

Where < $f_n >$, < $\alpha_n >$, < $\gamma_n >$ and < $\beta_n >$ as in theorem (2.3) and

$$T_n^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T_n(x_n)$$

Then $< x_n >$ converges strongly to an asymptotic common fixed point of $\ T_n^{\ \alpha_n}, \forall n \in N.$

ProofFor any $x, y \in X$

$$\|T_n^{\ \alpha_n}(x) - T_n^{\ \alpha_n}(y)\| \leq (1-\alpha_n)\|x-y\| + \alpha_n\|T_n(x) - T_n(y)\|$$

$$\leq (1 - \alpha_n) ||x - y|| + \alpha_n ||x - y||$$

= $||x - y||$

Therefore, $\langle T_n^{\alpha_n} \rangle$ is a sequence of nonexpansive. Then by theorem (2.3) we get the result.



Theorem 2.5.Let A be a maximal monotone multivalued mapping, $< f_n >$ be a sequence of contraction mapping on C and $< T_n >$ be a sequence of nonexpansive mapping on C, $< f_n >$ and $< T_n >$ lines in \mathcal{F} such that $A^{-1}(0) \cap (\cap F(f_n) \cap (\cap F(T_n)) \neq \phi$. If the iterative scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f_n(x_n) + \beta_n T_n(x_n) + (1 - \gamma_n) J_{rn}(x_n)$$

Where $<\alpha_n>$ and $<\beta_n>$ are decreasing sequences in [0,1) converges to 0, such that

$$\sum_{n=0}^{\infty} \alpha_n = \infty$$
 and $\alpha_n + \beta_n + (1 - \gamma_n) = 1$.

 $\frac{1}{2} \leq \alpha_n + \beta_n < 1 \text{ and} \sum_{n=0}^{\infty} (\|f_n(x_n)\| + \|J_{r_n}(x_n)\|) < \infty. \text{Then the iterative scheme} < x_n > \text{converges strongly to an asymptotic common fixed point of } T_n, \forall \ n \in \mathbb{N}$

ProofLet $p \in A^{-1}(0) \cap (\cap F(T_n)) \cap (\cap F(f_n))$

$$\begin{split} \|x_{n+1} - p\| &\leq \alpha_n \|f_n(x_n) - p\| + \beta_n \|T_n(x_n) - p\| + \left(1 - \gamma_n\right) \|J_{rn}(x_n) - p\| \\ &\leq \alpha \alpha_n \|x_n - p\| + \beta_n \|x_n - p\| + \left(1 - \gamma_n\right) \|x_n - p\| \end{split}$$

where

$$\alpha = \sup{\alpha_i \text{ , } i \in N} \text{ and } 0 < \alpha < 1$$

$$\|x_{n+1} - p\| \qquad \leq (\alpha_n + \beta_n + \left(1 - \gamma_n\right))\|x_n - p\|$$

 $\|x_{n+1} - p\| \leq \|x_n - p\| \Rightarrow < x_n > \text{is bounded sequence, So} < f_n >, < T_n > \text{and} < J_{rn} > \text{also bounded}.$

Now, since $< f_n >$ and $< T_n >$ lies in \mathcal{F} . Therefore,

$$||x_{n+1} - x_n|| \le \alpha_{n-1} ||f_{n-1}(x_n) - f_{n-1}(x_{n-1})||$$

$$\begin{split} +\beta_{n-1}\|T_{n-1}(x_n) - T_{n-1}(x_{n-1})\| + \\ & (1-(\alpha_{n-1}+\beta_{n-1})) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \\ & \leq \alpha_{n-1}\alpha \|x_n - x_{n-1}\| + \beta_{n-1}\|x_n - x_{n-1}\| \\ & + (1-(\alpha_{n-1}+\beta_{n-1})) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \\ & \leq \left(\alpha_{n-1}\alpha + \beta_{n-1}\right) \|x_n - x_{n-1}\| + (1-(\alpha_{n-1}+\beta_{n-1})) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \\ & + (1-(\alpha_{n-1}+\beta_{n-1})) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \\ & \leq \left(\alpha_{n-1}\alpha + \beta_{n-1}\right) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \\ & + (1-(\alpha_{n-1}+\beta_{n-1})) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \\ & + (\alpha_{n-1}+\beta_{n-1}) \big\| J_{r_n}(x_n) - J_{r_{n-1}}(x_{n-1}) \big\| \end{split}$$

And hence, $||x_{n-1} - x_n|| \to 0$ as $n \to \infty$

(5)

$$\begin{split} \|x_n - T_n x_n\| & \leq \|x_n - x_{n+1}\| + \|x_{n+1} - T_n x_n\| \\ & < \|x_{n+1} - x_n\| + \alpha_n \|f_n(x_n)\| + 2\beta_n \|f_n(x_n)\| \ + \\ & (\alpha_n + \beta_n) \|J_r(x_n)\| \end{split}$$

But < $f_n >$ and < $J_n >$ are bounded and by (5), we get

$$\|\mathbf{x}_{n} - \mathbf{T}_{n}\mathbf{x}_{n}\| \to 0 \quad \text{as} \quad n \to \infty$$
 (6)

Since < x_n > is bounded sequence then there exists as a subsequence < x_{nk} > of < x_n > such that x_{nk} \rightharpoonup \tilde{x} .

By equation (6) and by using lemma (1.6) we get $\tilde{x} \in \cap F(T_n)$

$$\begin{split} \|x_{n-1} - \tilde{x}\| &\leq \alpha_n \|f_n(x_n) - \tilde{x}\| + \beta_n \|T_n(x_n) - \tilde{x}\| + \left(1 - \gamma_n\right) \left\|J_{r_n}(x_n) - \tilde{x}\right\| \\ &\leq \alpha_n \|f_n(x_n) - \tilde{x}\| + \left(1 - \left(1 - \gamma_n\right) + \alpha_n\right) \|x_n - \tilde{x}\| + \\ & (\alpha_n + \beta_n) \left\|J_{r_n}(x_n) - \tilde{x}\right\| \\ &= (1 - \alpha_n) \|x_n - \tilde{x}\| + \alpha_n \|f_n(x_n) - \tilde{x}\| + \\ & (\alpha_n + \beta_n) \left\|J_{r_n}(x_n) - \tilde{x}\right\| + \end{split}$$

By lemma (1.5), we get, $\|x_n - \tilde{x}\| \to 0$ as $n \to \infty$. And hence $< x_n >$ converges strongly to an asymptotic fixed point of T_n , $\forall n \in \mathbb{N}$.



Corollary2.6.Let A be a maximal monotone multivalued mapping, f be a contraction self-mapping on C and T be a non-expansive self-mapping on C such that $A^{-1}(0) \cap (F(f) \cap (F(T)) \neq \varphi$ and f and T lines in \mathcal{F} . If the iterative scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f(x_n) + \beta_n T(x_n) + (1 - \gamma_n) J_{rn}(x_n)$$

Where $<\alpha_n>$ and $<\beta_n>$ are decreasing sequences in [0,1) converges to 0, such that

- 1. $\sum_{n=0}^{\infty} \alpha_n = \infty$ and $\alpha_n + \beta_n + (1 \gamma_n) = 1$.
- $2. \qquad \frac{1}{2} \leq \alpha_n + \beta_n < 1 \ \text{ and} \\ \sum_{n=0}^{\infty} \lVert f(x_n) \rVert + \left\lVert J_{r_n}(x_n) \right\rVert < \infty. \\ \text{Then the iterative scheme} < x_n > \text{ converges strongly to an asymptotic common fixed point of } \\ T_n, \forall \ n \in \mathbb{N}$

Corollary2.7.Let A be a maximal monotone multivalued mapping, f be a contraction mapping on C and T be a non-expansive mapping on C such that $A^{-1}(0) \cap (\cap F(f) \cap (\cap F(T)) \neq \phi$ and f and T lines in \mathcal{F} .If the scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f(x_n) + \beta_n T_{nT}(x_n) + (1 - \gamma_n) J_{rn}(x_n)$$

Where $<\alpha_n>$ and $<\beta_n>$ are decreasing sequences in [0,1) converges to 0,such that

- $\textbf{1.} \qquad \textstyle \sum_{n=0}^{\infty} \alpha_n = \infty \ \text{ and } \alpha_n + \beta_n + \left(1 \gamma_n\right) = 1.$
- $2.\frac{1}{2} \leq \alpha_n + \beta_n < 1 \ \text{ and} \\ \sum_{n=0}^{\infty} \lVert f(x_n) \rVert + \left\lVert J_{r_n}(x_n) \right\rVert < \infty. \\ \text{Then the iterative scheme} < x_n > \text{ converges strongly to an asymptotic fixed point of } \\ T_n, \forall \ n \in \mathbb{N}. \\$

Corollary2.8.Let A be a maximal monotone multivalued mapping, f be a sequence of contraction mapping on C and T be a sequence of non-expansive mapping on C such that $A^{-1}(0) \cap (\cap F(f) \cap (\cap F(T)) \neq \phi$ and f and T lines in \mathcal{F} .If the scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f(x_n) + \beta_n T(x_n) + (1 - \gamma_n) J_{rn}(x_n)$$

Where $<\alpha_n>$ and $<\beta_n>$ are decreasing sequences in [0,1) converges to 0, such that

- 1. $\sum_{n=0}^{\infty} \alpha_n = \infty$ and $\alpha_n + \beta_n + (1 \gamma_n) = 1$.
- $\mathbf{2}. \tfrac{1}{2} \leq \alpha_n + \beta_n < 1 \ \text{ and} \\ \sum_{n=0}^{\infty} \lVert f(x_n) \rVert + \left\lVert J_{r_n}(x_n) \right\rVert < \infty. \\ \text{Then the iterative scheme} \ < x_n > \ \text{converges strongly to an asymptotic fixed point of } \\ T_n, \forall \ n \in \mathbb{N}.$

Corollary 2.9.Let A be a maximal multivalued mapping and $< T_n >$ be a sequence of nonexpansive. If the iterative scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f_n(x_n) + \beta_n T_n^{\alpha_n}(x_n) + (1 - \gamma_n) J_{r_n}(x_n)$$

Where $< f_n > < \alpha_n > and < \beta_n >$ as in theorem (2.5) and

$$T_n^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T_n(x_n)$$

Then $< x_n >$ converges strongly to common asymptotic fixed point of $\ T_n^{\ \alpha_n}, \forall n \in N.$

ProofFor any $x, y \in X$

$$\begin{split} &\|T_n^{\ \alpha_n}(x) - T_n^{\ \alpha_n}(y)\| \leq (1 - \alpha_n)\|x - y\| + \alpha_n\|T_n(x) - T_n(y)\| \\ &\leq (1 - \alpha_n)\|x - y\| + \alpha_n\|x - y\| = \|x - y\| \end{split}$$

Therefore, $\langle T_n^{\alpha_n} \rangle$ is a sequence of nonexpansive. Then by theorem (2.5) we get the result.

Corollary2.10.Let A be a maximal multivalued mapping and < T_n > be a sequence of strongly nonexpansive. If the scheme < x_n > is defined as:

$$x_{n+1} = \alpha_n f_n(x_n) + \beta_n T_n^{\alpha_n}(x_n) + (1 - \gamma_n) J_{r_n}(x_n)$$

Where < $f_n >$, < $\alpha_n >$ and < $\beta_n >$ as in theorem (2.5) and

$$T_n^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T_n(x_n)$$

Then $< x_n >$ converges strongly to common asymptotic fixed point of $T_n^{\alpha_n}$, $\forall n \in \mathbb{N}$

Corollary 2.11.Let A be a maximal multivalued mapping and < $T_n >$ be a sequence of firmly nonexpansive. If the iterative scheme < $x_n >$ is defined as:

$$x_{n+1} = \alpha_n f_n(x_n) + \beta_n T_n^{\alpha_n}(x_n) + (1 - \gamma_n) J_{r_n}(x_n)$$



Where $< f_n>$, $<\alpha_n>$ and $<\beta_n>$ as in theorem (2. 5) and

$$T_n^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T_n(x_n)$$

Then $< x_n >$ converges strongly to common asymptotic fixedpoint of $T_n^{\alpha_n}, \forall n \in \mathbb{N}$.

Corollary2.12.Let A be a maximal multivalued mapping and $T: C \to C$ be a nonexpansive mapping . If the iterative scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f(x_n) + \beta_n T^{\alpha_n}(x_n) + (1 - \gamma_n) J_{r_n}(x_n)$$

Where < f_{n} >, < α_{n} > and < β_{n} > as in theorem (2. 5) and

$$T^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T(x_n)$$

Then $< x_n >$ converges strongly to asymptotic fixed point of T^{α_n} , $\forall n \in \mathbb{N}$

Corollary2.13.Let A be a maximal multivalued mapping and $T:C\to C$ be a strongly nonexpansive. If the iterative scheme $<\mathbf{x}_n>$ is defined as:

$$x_{n+1} = \alpha_n f(x_n) + \beta_n T^{\alpha_n}(x_n) + (1 - \gamma_n) J_{r_n}(x_n)$$

Where $< f_n > < \alpha_n > and < \beta_n >$ as in theorem (2. 5) and

$$T^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T(x_n)$$

Then < x_n > converges strongly to asymptotic fixed point of T^{α_n} , $\forall n \in \mathbb{N}$

Corollary2.14.Let A be a maximal multivalued mapping and $T: C \to C$ be a firmly nonexpansive. If the iterative scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f(x_n) + \beta_n T^{\alpha_n}(x_n) + (1 - \gamma_n) J_{r_n}(x_n)$$

Where $< f_n > < \alpha_n > and < \beta_n >$ as in theorem (2. 5) and

$$T^{\alpha_n}(x_n) = (1 - \alpha_n)x_n + \alpha_n T(x_n)$$

Then $< x_n >$ converges strongly to asymptotic fixed point of T^{α_n} , $\forall n \in \mathbb{N}$

3.APPLICATIONS

Let X be a real Hilbert space and C be a nonempty closed convex of X. If f be a proper lower semi continuous convex mapping of X into $(-\infty, \infty]$ then the sub differential ∂f of f is:

$$\partial f(x) = \{z \in X; f(y) \ge f(x) + \langle z, y - x \rangle, \forall y \in X\}, \forall x \in X.$$

Rockefeller [11] proved that ∂f is maximal monotone multivalued mapping .we recall the normal cone $N_c(x)$ of C at x is define as:

$$N_c(x) = \{z \in X; \langle z, y - x \rangle \le 0, \forall y \in C\}$$

And the indicator mapping of C is define as:

$$i_c \colon X \to (-\infty, \infty] \quad \text{ such that } \qquad i_c(x) = \left\{ \begin{matrix} 0 & \text{if } x \in C \\ \infty & \text{if } x \in C \end{matrix} \right.$$

 i_c is proper lower semicontinuous convex mapping, ∂i_c is maximal monotone and $\partial i_c(x) = N_c(x)$. Now, we introduced application for the results presented in this paper

Corollary 3.1.If f be a proper lower semicontinuous convex mapping of X into $(-\infty,\infty]$, $< f_n >$ be a sequence of bounded and contraction mappings on C and $(\partial f)^{-1} \neq \phi$. Then $< x_t >$ converges strongly to the point \tilde{x} , where $\tilde{x} = p_E(f_n(\tilde{x}))$ or \tilde{x} is the unique solution of variation of variational inequality.

$$<(I-f_n)\tilde{x}, x-\tilde{x}>\geq 0$$
 , $x\in E=(\partial f)^{-1}$.

Corollary3.2.If f be a proper lower semi continuous convex mapping of X into $(-\infty,\infty]$, $< f_n >$ be a sequence of contraction mapping on C and $< T_n >$ be a sequence of firmly nonexpansive mapping on C such that $(\partial f)^{-1} \cap (\cap F(f_n) \cap F(f_n)) \neq \emptyset$

 $< f_n >$ and $< T_n >$ lines in \mathcal{F} . If the scheme $< x_n >$ is defined as:

$$x_{n+1} = \alpha_n f_n(x_n) + \beta_n T_n(x_n) + (1 - \gamma_n) J_{rn}(x_n)$$

Where $<\alpha_n>$ and $<\beta_n>$ are decreasing sequences in [0,1) converges to 0, such that

1.
$$\sum_{n=0}^{\infty} \alpha_n = \infty$$
 and $\alpha_n + \beta_n + (1 - \gamma_n) = 1$.



2. $\frac{1}{2} \le \alpha_n + \beta_n < 1$ and $\sum_{n=0}^{\infty} \|f_n(x_n)\| + \|J_{r_n}(x_n)\| < \infty$. Then the iterative scheme $< x_n >$ converges strongly to an asymptotic common fixed point of T_n , \forall $n \in \mathbb{N}$. Then the iterative scheme $< x_n >$ converges strongly

to common asymptotic fixed point of T_n , $\forall n \in N$.

REFERENCES

- H.H. Bauschke and P.L. Combettes, 2011, Convex Analysis and Monotone Operator Theory in Hilbert Spaces, Springer-Verlag
- 2. J.M. Borwein and J.D. Vanderwerff, 2010, Convex Functions, Cambridge University Press.
- 3. R.S. Burachik and A.N. lusem, 2008, Set-Valued Mappings and Enlargements of monotone Operators, Springer-Verlag.
- 4. S. Simons, 2008, From Hahn-Banach to Monotonicity, Springer-Verlag.
- 5. C. Z alinescu, 2002. Convex Analysis in General Vector Spaces, world Scientific Publishing,
- 6. A.Moudafi, 2000 Viscosity approximation method for fixed pointproblems, Mathematical Analysis and Applications. 241, 46-55.
- 7. H.H.Bauschke, S.M.Moffat and X.Wang, 2012 Firmly nonexpansviemappings and maximally monotone operators correspondenceand dualityset valued variational analysis, vol 20,131-153.
- 8. K.Geobel and A.Kirk,1990 Topics in Metric Fixed Point Theory in Cambridge Studies in advanced mathematics, vol,28,Cambridge univ.press.
- 9. H.K.Xu,(2002), Iterative Algorithm for nonlinear operators , J.londonMath.soc .66240-256.
- 10. D.A.Ruiz, G.L.Acedo and V.M.Marquez, 2014, Firmly nonexpansive mappings, J nonlinear analysis, vol 15(2014)1
- 11. R.T.Rockafellar, 1970,On the maximal monotonicity of subdifferentialmappingss,pacific J.Math.33, 209-216.